Year 4 Maths Activity Mat ®

a N
Section 1 Section 3 Section 5 Section 6
What’s the missing number? Draw a rectangle with sides 4.8cm and 8.2cm. Then A bus drives 32 miles. It stops 1
work out the perimeter. twice. At the first stop, 8 2z ©of £50 =
160 =+ = 40 people get on the bus. At the
next stop, double the amount
30 - 8 - j of pe.zople who got on at the % of 24m =
. - previous stop, get on. How
many people were on the bus
360 = — 0 after the second stop? % of £40 =
3
: ~ < Oof 64m =
Section 2 8
How much altogether? - g
Two £1 coins [ . ) .
perimeter = Section 7 Section 8
One 50p How many minutes and hours 20 tulips cost £8. How
Two 2 are left in the day if the time much would 50 tulips
wo 20ps q . D is: cost?
. Section 4
Five 5ps
22:10 =
1 7 3 2 2 2 1 0 0 4
Write the least amount of
coins you could use to show - 2 8 9 Q9 + 3 4 5 9
the total. 11:45 =
J G J o J
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Year 4 Maths Activity Mat: 5

e
Quality Standard

Answers
Section 1 Section 3 Section 5 Section 6
What’s the missing number? Draw a rectangle with sides 4.8cm and 8.2cm. Then A bus drives 32 miles. It stops 1
work out the perimeter. twice. At the first stop, 8 % of £50 =|£12.50
160 =+ 4 = 40 people get on the bus. At the
next stop, double the amount 3
of people who got on at the =~ of 24m =| 18m
320 -+ 8 =| 40 \ previous stop, get on. How 4
many people were on the bus
360 = | 6 |=60 after the second stop? 2 of £40 = | £10
: = 3 =
: % 2 of b4m=| 24m
Section 2
How much altogether?
Two £1 coins . .
perimeter = | 26cm Section 7 Section 8
One 50p How many minutes and hours 20 tulips cost £8. How
are left in the day if the time much would 50 tulips
Two 20ps - ) i ?
. is: cost?
- Section 4
ive 5ps
£3.15 22:10 =
1 7 3 2 2 1 0 0 4 i
Write the least amount of 1 hour 50 minutes
coins you could use to show - 2 8 19 + 3 4 5 Q9
the total. 11:45 =
1 4 4 2 2 4 4 6 3
£2 + £1+ 10p + 5p 12 hours 15 minutes £20
- _J
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